STAT-319-Quiz #1
Name:                                                                                                            ID                                              
Question1: The yield of a chemical process is being studied. From previous experience, yield is known to be normally distributed and. The past five days of plant operations have resulted an average of  and. Find a 90% confidence interval on the true mean yield.
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Question2: A random sample has been taken from a normal population. Output from a software package follows:
	Variable
	n
	Mean
	SE Mean 
	StDev
	Variance
	 Sum

	X
	?
	?
	1.58
	6.11
	?
	751.4


 
Find a 99% C.I for the true mean.








